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14. In a bag of 400 jelly beans, 25% of the jelly beans are
red in color. If you randomly pick a jelly bean from the
bag, what is the probability that the jelly bean picked
is NOT one of the red jelly beans?

G. |
H
J

GO ON TO THE NEXT PAGE.



24. A bag contains 6 red marbles, 5 yellow marbles, and
7 green marbles. How many additional red marbles
must be added to the 18 marbles already in the bag so
that the probability of randomly drawing a red marble
is 2 7

12
16
18
24

36
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32. A bag contains 12 red marbles, 5 yellow marbles, and
15 green marbles. How many additional red marbles
must be added to the 32 marbles already in the bag so
that the probability of randomly drawing a red marble

F. 13
G. 18
H. 28
J. 32
K. 40
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10 One marble is drawn at. random from a bag contammg :
3 red, 2 blue, and 4 green marbles. What i is the proba—-
b1hty that the rnarble drawn is NOT blue?
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31. To make a 750-piece jigsaw puzzle more challenging, a
puzzle company includes 5 extra pieces in the box
along with the 750 pieces, and those 5 extra pieces do
not fit anywhere in the puzzle. If you buy such a puzzle
box, break the seal on the box, and immediately select
|1 piece at random, what is the probability that it will
be 1 of the extra pieces?

A. %
B.7—;§
C.%(—)
D.%g
E. -

~J
W
o
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